DINFEN Bk

D2

S3

L2

o 1t © g J—Lﬁ@i 3 =@k
=/ | B | TS EQUAL TEES
L1 L3
KFAC KFAC-RN
KFAD KFAD-RN

(AVIR=) 12 4 THREAD |%& T-4M% TUBE O.D. R I DIMENSIONS JE 15558
PART NO. EF.G D1,D2 D3 11,1203 |L12.3 | s1 [s2.53,54 LilRE)
KF AC-08 M8X1 4 11 21 10
KF AC-10 M10X1 5 9.5 21 12 %é% 51
KF AC-10LL M10X1 6 9.5 21 12 LL
KF AC-12LL M12X1 8 11.5 23 12 14
KF AC-12 M12X1.5 6 12 27 12 14
KF AC-14 M14X1.5 8 14 29 12 17
KF AC-16 M16X1.5 10 15 30 14 19 ﬁif‘?ﬂ
KF AC-18 M18X1.5 12 17 32 17 22 L
KF AC-22 M22X1.5 15 21 36 19 27
KF AC-26 M26X1.5 18 23.5 40 24 32
KF AC-30 M30X2 22 27.5 44 27 36
KF AC-36 M36X2 28 30.5 47 36 41 16
KF AC-45 M45X2 35 34.5 56 41 50 %fﬂ
KE AC-52 M52X2 42 40 63 50 60
KF AD-14 M14X1.5 16 31 12 17
KF AD-16 M16X1.5 8 17 32 14 19 63
KF AD-18 M18X1.5 10 175 34 17 22 ARG
KF AD-20 M20X1.5 12 21.5 38 17 24 s
KF AD-22 M22X1.5 14 22 40 19 27
KF AD-24 M24X1.5 16 24.5 43 24 30
KF AD-30 M30X2 20 26.5 48 27 36 i‘gﬁu
KF AD-36 M36X2 25 30 54 36 46 S
KF AD-42 M42X2 30 35.5 62 41 50
KF AD-52 M52X2 38 41 72 50 60 A

e MF R ECREIREREE S, WEERS S “RN” WIAC-22RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example AC-22RN.

183




